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9 100kN/ Mm% 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/mM%E 25 = -~ = —-|3mEEZB -~ = = =
LSt 1.00/0.00 ~ 7.29 9293 FhLlst [000 ~ 7.29] 1.89 10.10 FnLst 1.00f 500 ~ 970 9293 #hLs | 500 ~ 970 1.89 10.10
3 100kN/mM%E 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/mM%E 25 = -~ = —-|3mEEZB -~ = = =
LSt 1.00/0.00 ~ 6.71 84.78| #n st 1000 ~ 0.00] 1.69 9.05 FnLst 1.00f 500 ~ 8.21 84.78| #nLs | 500 ~ 821 1.69 9.05
4 100kN/ Mm% 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/mM%E 25 = -~ = —-|3mEHBZS -~ = = =
NSt 1.00/0.00 ~ 6.44 81.06| TNyt |0.00 ~ 6.44| 2.14 11.46 LSt 1.00f 500 ~ 10.17 81.06| #hList | 500 ~ 1017 2.14 11.46
5 100kN/mM%E# 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/mM%E 25 = -~ = —-|3mEHEZB -~ = = =
FhLst -l -~ - -| FhLlst -~ - - - FhLst - -~ - -| Fhiist -~ = = =
6 100kN/ Mm% 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/ Mm% 25 = -~ = —-|3mEEZB -~ = = =
FhLst -l -~ - -| FhLlst -~ - - - FhLst - -~ - -| Fhiist -~ = = =
7 100kN/mM%E 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/mM%E 25 = -~ = —-|3mEEZD -~ = = =
FhLst -l -~ - - FhLlst -~ - - - FhLst - -~ - -| Fhist -~ = = =
8 100kN/mM%E 25 -l -~ = -|3mEBZ5 ol ~ = = —| 100kN/mM%E 25 = -~ = —-|3mEHEZB -~ = = =
FhLst -l -~ - -| FhLlst -~ - - - FhLst - -~ - -| #Fhiist -~ = = =
5 100kN/mi%E 82 % -l -~ = -|3mZEBZB| - ~ = - —| 100kN/m#%E#BZ % = -~ = -|3mZEBZD = = - =
FhLs -l -~ = -| FhLlst -~ = = = FhLst = -~ = -| hrist -~ = = =
100kN/mi%E 82 % ~ ImEBZD ~ 100kN/m%E#BZ % ~ ImEBZD ~
FhLs ~ FhLst ~ FhLst ~ s ~
100kN/mi%E 82 % ~ ImEBZD ~ 100kN/m%E#BZ % ~ ImEBZD ~
FhLst ~ FhLst ~ FhLst ~ s ~
100kN/mi%E 2 % ~ ImEBZD ~ 100kN/m#%E#BZ % ~ ImEBZD ~
FhLst ~ FhLst ~ FhLs ~ TR ~
100kN/ Mm% 2 % ~ ImEBZD ~ 100kN/m%E#BZ % ~ ImEBZD ~
FhLs ~ FhLst ~ FhLst ~ s ~
100kN/mi%E 82 % ~ ImEBZD ~ 100kN/m%E#BZ % ~ ImEBZD ~
FhLs ~ FhLst ~ FhLst ~ s ~
100kN/mi%E 82 % ~ ImEBZD ~ 100kN/m#%E#BZ % ~ ImEBZD ~
FhLst ~ FhLs ~ FhLs ~ s ~
100kN/ Mm% 2 % ~ ImEBZD ~ 100kN/m#%E#BZ % ~ ImEBZD ~
FhLst ~ FhLst ~ FhLst ~ s ~




